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Intro

Today we will 7”va learn 7”3 97 of M2 noon
The topics we will learn about include.

The source
The source to the Halacha that all forms of nxva fulfill the to the Halacha

All forms of NX*2
fulfill the

Mitzvas Yibum

The Halachic definition of niminn, dozing

Mitzvas Yibum

DNINN

The source to the Halacha that ix3v7, a partial 03, is a
. 7R1 in regard to NIV NOR

The source
1o the Halacha

DRIV 1S a NXRI2
in regard to

Ny MO
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So let's review

The Mishna in the previous Daf taught

NP2 OY RIN

TN PNV P

PRI PAONNA P2

mp

The Mitzvah of o2 is fulfilled regardless of intention.
137 RID

The source is taught in a Braisa which cites the Pasuk;
oY R DY

TORY D AP

I

The words 75 X2 2’ teach us that the Mitzvah of o2’ is
fulfilled in all instances of x>

PEIPAONNA P2 TIN PNV P

The Gemara then brings a second Braisa which Darshens
several words of the same Posuk:

5V X2’ P2 teaches us 719797

1nP9 teaches us 72773 XYW

The Mitzvah of o2 is fulfilled whether the 7x2 was
performed in a regular or irregular fashion.

D17, from the word 7527, without the letter 73, teaches us
peRakielblyiial

72 N TOW) 9O PRI

That only a nxa fulfills the Mitzvah - However Money or
a Shtar does NOT fulfill the Mitzvah.

man, referring to the additional letter 7 of 127 teaches us
1m0 53

That Mitzvas Yibum is fulfilled even when performed
without the consent of the Yevamah.

The Braisa brings the previous interpretation to the words
oD RY n, to teach P2 PAOIRI P2 TINIPIINWIPI
The Gemara asks that these words were already used for
719972 NNR2?

The Gemara answers that 713775 can be derived from the
words;

oW YIRS DAY

DW DPHY DIPM

Therefore, m5p X2’ o2’ can teach

NI P2ONNA P2 TIN PAINWI P

The WMJZA/@/’/ af ./0//3’
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The Gemara goes back to elaborate on the following
statement mentioned earlier;

AT 170N

MNP P RO W

OV R 02 RIP IORT

AR 0w 15 1T 7Y

The Mitzvah of 012 is not fulfilled if he’s asleep.

The Gemara cites a Braisa which apparently contradicts
Ani=RH

W P29V PARINM

The Mitzvah of ;2 is fulfilled whether he’s awake or
asleep?

The Gemara answers;

JPPOY R RIN

DIPINMA

The xn>11 is referring to when he’s merely dozing, in
which case he has sufficient awareness - Whereas 77 10
is referring to ju, he’s completely asleep, and has no
awareness.

DIPINMD M7 N

The Halachic definition of dozing is;

PNRN TN DINY O

He is not completely asleep, and not completely awake.
The Gemara explains;

YD MIPT 0

He responds when called. However,

RI20 "PIIRS VT R

He cannot give an answer which requires thought - for
example, if asked the location of an item.

T Y 1T

But, if a possible location is mentioned, he can answer yes
or no.
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The Gemara continues explaining the Mishnah:

IR WOV TARY IV TR

A partial X2 is considered a complete 82 regarding 0
and NI OR.

7NN PO ARIVAD PID RO WOR
What is the source of ixv7 in the Torah?
The Gemara begins with three possible sources.

One -

Regarding 773, the Pasuk states;

MT UK DR 200 TOR WR)

VR AMPD DR ANV DR 7ON

From the word 77vn we learn that ix7vn is a X021 that
transgresses the 771 MOR.

However 771 cannot serve as a source for all other "o xR
™Y, because;

15V12 DR ARBOP P AT I

771 1s more stringent in that the Y»1 acquires her Tumah.

Two -

Regarding nx nwx, the Pasuk states;

PR DUR DR TR TOR ORI

RT3

The Pasuk compares nx nwx to 7773, in that IXIY7 is a N2
However;

275172 1P PR DWRS 1

The brother can marry many wives - In other words - this
can only be a source for similar ny3p which become
prohibited through pwirp.

Three -

Regarding the Issur of ox mnx) a8 MNN, the Pasuk states;
7920 R PR AR JOR TINR M)

7907 1IRY DR *D

From the word 77y we learn that i i is a X2,
However;

DR TINRI IR TNRS 70D

PHORID R NOR ]P0

This can only be a source for similar N7y which become
prohibited without Kiddushin.

Therefore, the Gemara says;

N'TIR R RTMD

NIND RTN N

Indeed, we cannot derive one from the other individually,

but perhaps we can derive one from the other two sources?

However, the Gemara proceed to show that we cannot do
that either.
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A partial DN is considered a complete NN’2
regarding D12’ and NPV MID'N
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. We cannot learn this Halachah from
DR MAR) IR MAR) AR TN
Because, )( We cannot
IRW DIWH PIOR W 2 70 N7 N do that either-.
These are MoR because they are related to him - while 77 R NWR)
and WX NWR are not TOR because they’re related. 170X PR P -y X
17° 0 70 "
We cannot learn from MNOR PW
DR MIAR) IR MART 77 N YN 1P9RD RN
Because, X
ORI R NOR 1O P35 70
These are 7108 automatically, not through marriage - 1],1'; am X PIANY 2N MAN
while Nk nwKR and many other N are 1OK through PIOR PO
marriage. IRY VD
We cannot learn from
MR DWRI 77
Because,

MR ORI 75

170D TOIR PR 1DV

WR NWR1 INNN

VDN T0IRY

That which causes them to be 77OR cannot also cause them
to become Im» - while ¥R NWR, that which causes her to
be 770R, her husband, can also cause her to become T,

. by divorce.

Therefore, the Gemara concludes:

RIP IR YW 277 77792 R 2T RPN I T IONR NOR
ORI MAMINN 1 WY TR 5375 The Gemara concludes:
MWIYN MW INIoN
7735 151 M S wpin '

Indeed, we cannot derive the Halachah of X9 via pia N3 N R‘?R

ax. We must derive it via 73 °2297 RO ijns 399 17999 NT 99 NN

The Pasuk at the conclusion of the Parsha of Arayos in
Parshas Kedoshim says; x.\P MN
MI93 AORA MANINA I TWY MWK 533 -

Rebbe Yonah taught that this is a w1 which compares all
nYIY MO'R to one another, which includes the Issur of 771,
ARV 5D AR ARV ATI I

mp e 5o 7
Since nx7w7 is prohibited with a 773, it is prohibited with H’DN‘J m':j’;mh 13:7;

all other mp as well.

s eis mmn

m% 19 neapn 5o wpin

DEIYDP DT DN
DY) OR /

Dedicated By: DafHachaim.org Yevamos 54 -5




757 B

Now the Gemara goes to explain why the Torah compares
the Issur NX NWN to 773:

P Y3 PN TNORY 712D 17

We need a source to teach us that a Yevama, a brother’s
wife, is prohibited during his lifetime. Although we can
deduce this from the fact that the Torah needed to permit
o2 after his death, one might say that while he was alive
she was only prohibited as an 7wy T1O°R.

Therefore, the Torah compares nxX NWN to 1773,

IR INRS AP O VW D HY AR ATI I

NIDARNOR YW1

RO RS AP DWW 0 HY R 1R TUR R

famn by i Rl gh]

Just as 771 MO, although it will eventually become 3,
itremains a 15 21 until then - So too, X NWR IO,
although it can become 3m» in a Yibum situation, it
remains a 113 21 until then.

The Gemara also explains that the Torah mentions Ix3vn
with the Issur X minR) PaR MR to teach us

N2 ARIYD

And from nwx *20wn we derive

212 RN

DafHachaim.org

Why the Torah compares the
NN DWN toNTI

1S 1144
MY YRS NONY
M

Attho
We can deduce this from the fact that
the Torah needed to permit D12 after his death
One m.
While he was alive she was
only prohibited as an NWD MND'N

. a;i’
' op a8
an o N o e
NS N IND N
N0 MY P52 XMON Ny

23/ W

'» oy AN

The Torah mentions NNV
with the Issur1>N DINN) 2N DINN
ty teach ub

N12N22 NARIYN

And from DWN 20WN
we devive

7272 NRAYN
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The Gemara explains further that this Posuk;

791 RS PR MARY JOR TIAR 7

7907 1IN NR *D

MR RWITY R 7510

Let's explain:

We know that the Psukim in m» »nx nw1o are the mmx
- the prohibitions of the N7y - and the Psukim in nw1s
ow1Tp are the 0w - the various punishments for each
7Y PON.

However, this Posuk is written 777X pw52 in Parshas
Kedoshim - certainly superfluous, because ax mnx miy
IR MnR) are already written in Parshas Achrei Mois.
Therefore, this Posuk is used Xw17 - the latter part to
teach n»n22 RV, and the first part to teach us that

TR MINRT PIAR TINR,

One’s Aunt - his father’s or mother’s sister, is forbidden
DN P P2IARA O P2

Whether they are from one father or one mother

Similarly, ymnx, one’s sister, is also

DR P PR D P2

As explicitly written in the Posuk

PR N2IR PR N2 JINR D

1Y N RS

As opposed to 1717, one’s Aunt - his father’s brother’s
wife, which is forbidden only

DR 11D RN H

Only if they are from one father, but not if they are only
from one mother -

This is derived via mw 771 from the Posuk regarding an
2 72 who sold himself'to an ooy:

IMTIMTROR

93 17 DY K37 2D

TORY ITIT 2R ITITINR DDA 2N

DR 2 R21IRA 0 P> 0

DR 1 KDY AR 0 R R

P onm

TORY INMOWHD RIP IR
ANOWN TP IR NNOWD
ANOWN 1P PR DR NNOWH

DafHachaim.org

AN TR TP
TR TR
h’?ﬁﬂ NB VD
TIRY N "D DR
SPs

AD N R
PAD Y [P

nk /ré??/;!ﬂ/’) 2'[9

NN
OxD P P2 28D D 2

PR I IR P
AR TN
frmp Hhim Kb

N7
ORN 1P X7 28N N

ITTINT RINR

RorD s/ AP no
Y= '; N TN TS I
woNE h L.:S'
PhD WAl D PAD W) D

1910 onMm
RIP IR

wonie g
2R NNDWN
ANDWN MNP
R NNdWN
NNBWN NP NIR

Yevamos 54 -7



AT D
‘ The Gemara points out that we need the Posuk to teach us
that
TOR MIARY TR TR The Gemara poindy out...
is
DRA 9 P2 N7 D 12 We need the Posuk to teach us that
Because if we would want to use 2R 113, it can be argued 7)9 N DIDN) 7) AN DIDN
two ways: .
1S
We could compare it to ymnR, which is bR 1 P2 IR0 73, DN ) P2 2NN )2 P2

to which it is similar in that they are both

PHRD RITNOR

They are 17ox automatically, not through marriage - as
opposed to 1077, which is pwiTR "y, through marriage. Becawse % we woudd wanit ty use
OR, ,ak”p

it can be WM fuo ways:

We could compare it to 10717, which is R 15 XD aR7 0, to
which it is similar in that they are both

ax7 2P, the father’s relatives - as opposed to ymnR, who
is m3Y *219p, his relative.

We could compareit to We could compare it to
Therefore, it remains inconclusive, and we need the INNR, NMNT,
Posuk. which is which is
This discussion continues on the next Daf. DN D P2 INN 0 P2 DN D ND) NN P
They are both They are both
P NOMW MNP
PORN RN AN

Ay 0/!2/1(/%/ o 1313, Ay %Mie/ 1o Lunt,
which & who i
ViR g W3y /9P
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